NGLU COIR" Sk REPLACEMENT PARTS surTAsLE For: TRAFIMET®  ERGOCUT A 141 PLASMA

12 HMJ i

DUTY CYCLE

o | BT [ ol | coverron | B2
Ip|_ PAIS00 | 6 | ] CENTRAL CONNECTION CONNECTION M14 x 1
PL PA1504 6
lpLPmsoz == 5 BAR jmin | 140A-100A _= f
F’L PA1501 12 | | | .
| [PLpatsos | 12| | . 1 | J -
ITEM 1 Part No [ T = _DE_SfﬁPT_ION I ~ | ORIGINAL REF._ | PACK
| PLPAT500 Torcia completa A 141 mt. 6 term. M14x1 - Complete torch A 141 mt. 6 conn. Mi4x1 | PA1500 EE j
PLPA1504 Torcia completa A141mL 6 lerm. Centralizzato - Complete torch A 141 mt. 6 Central connection PA1504 1
. PLPA1502 Torcia completa A 141 mt.6 term.1/4°6 - Complete torch A 141 mt. 6 conn. 1/4'G I PA1502 [ 1
PLPA1501 Torcia completa A 141 mt. 12 term. M14x1 - Complete torch A 141 mt. 12 conn, M14 x 1 PAISOT |1
| PLPA1505 Torcia completa A 141 mt 12 term, Centralizzato - Complete torch A 141 mt. 12 Central connection | PM§05 [ il

= : .
| =F s |
| I l
| = [ PLFH563 1a | Tubetto ottone - prolunga - Diffusor o R = 9.y |Pises |1
. | PLPT220 1b| Kit corpo torcia A 141+ impugnatura - Kit torch body A 141 + handle PT 220 1 |
‘ » [LBE1SG] SIS - Carpo ayp O AR ey e G016 body el | PF185 [ ]
| PLEATS1 i O-Ring PR A 1 20 |
PLTP110 1e | Impugnatura completa - Complete handle ST e ]
02.09.A.8Z 1f | Pulsante - Trigger Se sl s MBATE0 [l |}
l PLBW340 | 1g] Set leve di sicurezza - Key safety trigger [ewsso [ 1]
‘2 | PLTR914.01 | Eletirodo Hf - Electrode - Hf | PR101 [ 10
| | e - l I
'3 | PUROI405 | Diffusorearia VESPEL - Swirlring VESPEL R b e b V|
=i | e - - A TR o E 2l
T | PUR9140211 | Ugelloramed1y  -Tp@id  [Ppiot-i1 [30]
| PLTR914.02.14 Ugello rame 8 1,4 S R e T e
ﬂ PURYIA0217 | Ugelorame 817 -Tp@i7 i e e
PLTR914.02.19 | Ugello rame 81,9 -Tip@1,9 PD10T-19 10 |
| PUTR914.02.30 | Ugello rame 83,0 scriccatura - Tip @ 3,0 Gouging o | PD101-80 110

NEW COIR sp. is in no way affiliated with TRAFIMET" . The parts advertised for sale are not genuine TRAFIMET" parts, but are parts made for and by NEW COIR spa.
Reference to TRAFIMET" machine, torches and numbers are for your convenience only, We reserve the right to substitute genuine TRAFIMET” parts in place of NEW COIR sp.A parts.



[TEM Part No | DESCRIPTION | ORIGINAL REF. | PACK

5 | PLTR140.03 | Ugello esterno long life = - Outside nozzle longIife PC 101-102 [10]
; - O B
el - T 1Y == == : =
T e A e : Pt
6 PLCE1 50.04 | Molla distanziatrice RaH - Spacer spring cv 11 | 10|
7 |PLCE150.04.2 ] Distanzialea 2 punte - Double pointed spacer oV 12 [10]
| PLCE150.04.4P Distanziale a 4 punte - corona P —_Crown spacer cvi4 | 10 |
|PLCE150.044S | Distanziale per sericcatura - Gouging spacer Cv 13 | 10 |
7a nE B = —— =
= ! —— =
'PUIR14003C | Ugello esterno taglio a contatlo long life ~ -Contactoutside nozzle long e | PC103-131 | 10 |
9 [ PLFH297 | Isolante per distanziale [ - Spacer insulator FH 297 [ 10|
[ PLTR914.04.C | Distanziale rame per laglio a contatto - Spacer for contact cutting V23 | 10
PLTR914.04. o | nislanﬂale rame a corona per laglin a contatto - Large spacer for contact cul‘ung CVva39 | 10
10 ! =
11 | PLOE150.04CM | Distanziale per taglio a contatto manuale con ugello STD - Spacer for contact cutting hand [0
PLCE150.04. .GD | Ghiera di nniusura distanziale taglio a contatlo - & Luclung nut .10
12 - t
13 | PLCE150.44. 01 _“_Fgl_a molla : - - Spring holder protection nut ; | 10
l PLCE150.44. 02 Molla distanziatrice ___S_pacer spring for protectionnut | |10 |
PLCE150.44.03 | Distanziale per scriccatura - Gouging spacer 10
14 | | A idiedldidoroad — = A= |
15 Se—— _ [ T X _ ;
16 PR14501L | Eleiodolungo - Long lectrode - Hf | PR116 10|
17 a ' T_'ﬁi.ﬁﬁ&s_.o_s i ;'IJEIIusm ?__e_-ﬁs__lw:l_péi _glam_u_d'g_lungg it __-_ Sw_i_rl ring - Ve%pel‘for long electrode only __ __EI_E_i 03 10 '_
155 [ | PLTR145.02.L l:!_geljo_ lungoacontalomax50A - Contactlongtipmax50A PD111 0]
| PLTR145.02.14L | Ugellolungo 8 1,4mm. LongtpOtdmm. POI7-14 | 10|
| POR1450247. | Ugellolungo B17mm. —— -Longtp@i7mm. ez | 10|
PLTR145.02.19L Ugello lungo 819mm. - Long tip @ 1,9mm. - | PD117-19 [ 10]
50A | ; ! = 5 = [
T ' PLCVE LI _f_l_q;g_zlone ugello lungo 50A |aglin acontatto - Lplj_g contact _c_mn_'_n_g aﬁachmem 50A v : 10 |
[ PL(:VQ Fruleziona ugallu Iungn SM -1snn L Lon_g contact cutting artaa?lnEm qt}.ﬁ - 1_5[IA_ ) _(_;yg |10
50 A 1 L = > o ; 1
20 [ 20a [ PLCE150.04.L | Protezione ugellu Iungo 50A |a_g_|i|_: acontatto - Shield cup for long up EDA & cvs 10
— f“—“: [ | PLCE150.04.L1 | F_fwlezloqa_qu[ln_luﬂgp 90A -150A - S_hl_gld cup for long tip S0A-150A cve 10
[ | I l | PLCE150.04.GD Ghiera di chiusura dis!anzlale lanlio a conlann - Locking nut 10
R , --- - I I : - — T
21 &’%] _PLCE_1 50.05.2 Estratlora diffusore aria - Extractor for swirl ring GR 60 10
o _ | PLGHUN 01 | Chlave per el aleﬂlodo - - Wrench for electrode 10
da C
22 |PLTR14201 | Paccocavidamt.6Mi4 x1 - Completecablemt. 6 Mi4 x1_ | PH 148 [
PLTR14.20.1C | Pacco cavi idamt. {ﬂ:en_lrailzzala 1/4"G - Complete cable mt. 6 Central. Adapt. 1/4" G | PH 149 1

[ PLTR14.20.3 | Cavo portacorrente mt. 6 M14 x 1 - Power cable mt. 6 M14 x 1 I PH 101 [ 1

|PLTR14.20.3C | Cavo portacorrente mt. 6 Centralizzata 1/4* G - Power cable mt. 6 Central Adapt. 1/4G | PH 107 |



	314
	315

